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//// Assignment2 1.java

//
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public class Assignment2_1

public static void main (String[] args)

{

System.out.println ("CAICHE(E. HESA ! ™) ;
System.out.println ("SHEERWRKR[TIR! I ");
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1//// Assignment2 3.java
21/

31// REE3 : BHER
V1111117

5 public class Assignment2 3
6 {

7 public static void
8

{

9 System.out.
10 // BEEFRR
11 System.out.
12 /] REERIR
13 System.out.
14 System.out
15 System.out.
16 }

17 '}

18

main (String[] args)
println ("RRAEER") ;
println ("EHS\tEHE\ tFHF\tRFE") ;

println ("#0001"+"'\t"+55+"'\t"+89+"\t"'+92) ;

.println ("#0002"+"\t"+78+"\t"+57+"\t"'+83) ;

println ("#0003"+'\t'+95+"'\t"'+90+"'\t"'+97);



1//// Assignment2 4.java
2.//
3/ RRE4 : FKETE
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5 public class Assignment2 4

6 {

7 public static void main(String[] args)

8 {

9 /] P NILVERTR

10 System.out.println("ZXzt& (FMH) ") ;

11 // IEERR

12 System.out.println ("B, BE, XAE&, &, S|HFENK, &5t
13 // &RADOXZH

14 System.out.println ("4, \\30, \\12, \\50, \\10, \\102");
15 System.out.println ("5, \\28, \\11, \\50, \\8, \\97");
16 }

17

18



1//// Assignment2 5.java
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public class Assignment2 5

{

public static void main(String[]

{

// 8EETI17ZRIN
System.out.println (07);
// SET12ZRT
System.out.println (014);
// SEFT19ZRT
System.out.println (023);

args)



1//// Assignment2 6.java
21/

31// &6 : Fvw MNEE
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5 public class Assignment2 6
6 {

7 public static void
8

{

9 System.out.
10 System.out.
11 System.out.
12 System.out.
13 System.out.
14 System.out.
15 System.out.
16

17 }
18}

main (String|[]

println("21

println("21:
:25

println("21

println("21:
:25

println("21

println("21:
128

println("21

124

24

25

27

args)

(B 1>BAEHECICIT?);

[KIE]>D~An 000lRAMNED? ™) ;
[BZ1>W0WhRx, XKaRETZESRL);
[RE]>Uw, RED | AR 7CVWDEDHBAT) ;
(B 1>E~0. UrBAR") ;

[RE] (FEENSHEELZ. ") ;

HEMNSHELUE. ") ;



1//// Assignment2 7.java
21/

3/ RE7 : O—RED
V1111117

5 public class Assignment2 7
6 {

7 public static void
8

{

9 System.out.
10 System.out
11 System.out.
12 System.out.
13 System.out.
14 System.out.

15 System.out.

16 }
17

main (String[] args)

println("public class Test");

.println("{");

println ("\tpublic static void main(String[] args)");
println ("\t{");

println("\t\tSystem.out.println (\"&DZEJava/\!I\")
println("\t}");
println("}");

i)



1//// Assignment2 8.java
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public class Assignment2 8

{

public static void main(String[] args)

{

// 0.045MDIEEFIR
System.out.println(4.5e-2);
// 12300.00DIEEERE
System.out.println(1.23e+4);
// -0.0067MDIEEFRIR
System.out.println(-6.7e-3);



//// Assignment2_9.java
//
// RRE9  XEFRK
[T
public class Assignment2 9
{
public static void main(String[] args)
{
System.out.println ("LXT—TS—F >R IXFUFIILTHD., ") ;
System.out.println ("\\N—2J&VILITF7ARY hD2XFTERIRENET., ")

System.out.println ("\'\\n\'(FEIT. \'\\t\'(FHYTEEECEHLET. ")
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1//// Assignment2 10.java
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public class Assignment2 10

public static void main(String[] args)

{

System.
System.
System.
System.
System.
System.
System.
System.

out

out.

out

out.
out.

out.

.println ("ERADESAN") ;

out.

println("");
println("SH. 144 09N SEREIRITVET, )

.println ("BHE(CRD TS FEMREZSBENLET. ") ;

out.

println("");
println("P.S. SHAEDOD(CEUDSYDE—-J I ") ;
println("--");

println ("AIR");

’



//// Assignment2_11.java
//
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public class Assignment2 11
{
public static void main(String[] args)
{
System.out.println ("\\ZEEICHIITRCEI—-RET\\\\EEEET);
System.out.println ("\"ZEEIICHIITBICEI—RET\\"EEESFET);
System.out.println ("7 ZHNITBC(ET—RET\\t&EESFFI);



